

BLOOD 2025 **COLLECTION** PRODUCT CATALOG







Our Story

The miraculous survival of our namesake, Georgia Claire Bowen, sparked the creation of GCB Medical Supply.

In 2018, Georgia, the fourth child of Founder and CEO, Kate Bowen, was born unexpectedly in cardiac arrest. Through her daughter's heart transplant journey and with her professional expertise in the medical device and clothing design fields, Kate developed The Georgie, a first-of-its-kind pediatric gown that allows for seamless medical assessment and monitoring, and for parents to easily connect with their babies.



GCB is on a mission to help make heart transplant a cure and not just a gift of time by funding groundbreaking research for heart transplant recipients. Since 2020, GCB has donated over \$1.2 million to advance this critical research.



Blood Collection& Accessories











Why GCB Medical Supply?

- No Product Stocking Issues
- Industry dominated by single supplier with inconsistent supply
- 20-30%+ savings over the larger suppliers
- Clinically equivalent product
- 90-day committed stockpile warehoused in the US
- Multi zip code manufacturing capabilities
- Diversity Spend Woman owned company
- Intimate knowledge of blood collection products from GCB Founder's
 15+ years specializing in this space
- Comprehensive conversion support lead and staffed by GCB team





Safety Push Button Blood Collection Set

Features & Benefits

- Color coded for easy identification of needle sizes
- Ultra-sharp needle tip minimizes patient discomfort
- Enlarged double wing designed ergonomically for more comfortable handling
- Advanced soft tubing for better flow
- Safety assured, needle stick prevention
- Push Button is slightly raised and designed to prevent premature activation



- Protective cap over distal end effectively avoids contamination and provides an additional safety measure to avoid needle stick injuries
- Extended body provides better stability and protection during operation and helps to ensure immediate and complete needle retraction
- All materials are Latex & DEHP free
- Sterile blister pack, single use only

Product Information

Product Number	Description	Color	Needle Size		Packaging String
			Gauge	Hose L	ea/bx/cs
GCBIVT055C	Push Button Blood Collection, 0.75 Needle, w/Luer	Green	21G	12in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT056C	Push Button Blood Collection, 0.75 Needle, w/Luer	Light Blue	23G	12in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT057C	Push Button Blood Collection, 0.75 Needle, w/Luer	Orange	25G	12in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT058C	Push Button Blood Collection, 0.75 Needle, w/o Luer	Green	21G	12in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT059C	Push Button Blood Collection, 0.75 Needle, w/o Luer	Light Blue	23G	12in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT060C	Push Button Blood Collection, 0.75 Needle, w/o Luer	Orange	25G	12in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT061C	Push Button Blood Collection, 0.75 Needle, w/Luer	Green	21G	7in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT062C	Push Button Blood Collection, 0.75 Needle, w/Luer	Light Blue	23G	7in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT063C	Push Button Blood Collection, 0.75 Needle, w/Luer	Orange	25G	7in	1 ea/blister, 50 ea/bx, 4 bx/cs Total 200
GCBIVT064C	Push Button Blood Collection, 0.75 Needle, w/holder	Green	21G	12in	1 ea/blister, 40 ea/bx, 5 bx/cs Total 200
GCBIVT065C	Push Button Blood Collection, 0.75 Needle, w/holder	Light Blue	23G	12in	1 ea/blister, 40 ea/bx, 5 bx/cs Total 200
GCBIVT066C	Push Button Blood Collection, 0.75 Needle, w/holder	Orange	25G	12in	1 ea/blister, 40 ea/bx, 5 bx/cs Total 200

Refer Standards

Shelf Life

Regulatory Compliance

ISO 7864: 2016, ISO 9626: 2016, ISO 23908: 2011

3 years



















Safety Sliding Blood Collection Set

Features & Benefits

- Color coded for easy identification of needle sizes
- Ultra-sharp needle tip minimizes patient discomfort
- Advanced butterfly wings are comfortable to the touch for easy operation
- Advanced soft tubing for better flow

- Advanced rubber sleeve for multiple collection
 - Safety assured, needle stick prevention
 - Cartridge sliding design, is simple and safe
- All materials are Latex & DEHP free
- Sterile blister pack, single use only

Product Information

Product	Description	Color	Needle Size		Packaging String
Number	Description		Gauge	Hose L	ea/bx/cs
GCBIVT007C	Safety Sliding Blood Collection, 0.75 Needle, w/Luer	Green	21G	12in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT008C	Safety Sliding Blood Collection, 0.75 Needle, w/Luer	Light Blue	23G	12in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT009C	Safety Sliding Blood Collection, 0.75 Needle, w/Luer	Orange	25G	12in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT010C	Safety Sliding Blood Collection, 0.75 Needle, w/Luer	Green	21G	7in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT011C	Safety Sliding Blood Collection, 0.75 Needle, w/Luer	Light Blue	23G	7in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT012C	Safety Sliding Blood Collection, 0.75 Needle, w/Luer	Orange	25G	7in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT013C	Safety Sliding Blood Collection, 0.75 Needle, w/holder	Green	21G	12in	1 ea/blister, 25 ea/bx, 4 bx/cs Total 100
GCBIVT014C	Safety Sliding Blood Collection, 0.75 Needle, w/holder	Light Blue	23G	12in	1 ea/blister, 25 ea/bx, 4 bx/cs Total 100
GCBIVT015C	Safety Sliding Blood Collection, 0.75 Needle, w/holder	Orange	25G	12in	1 ea/blister, 25 ea/bx, 4 bx/cs Total 100
GCBIVT052C	Safety Sliding Blood Collection, 0.75 Needle, w/o Luer	Green	21G	12in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT053C	Safety Sliding Blood Collection, 0.75 Needle, w/o Luer	Light Blue	23G	12in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000
GCBIVT054C	Safety Sliding Blood Collection, 0.75 Needle, w/o Luer	Orange	25G	12in	1 ea/blister, 50 ea/bx, 20 bx/cs Total 1000

Refer Standards

Shelf Life

Regulatory Compliance

ISO 7864: 2016, ISO 9626: 2016, ISO 23908: 2011

3 years

















Blood Transfer Products

The GCB blood specimen transfer devices are designed to be compatible with a butterfly needle, syringe (pink), or leur-locking (blue) IV hub to safely transfer blood to a collection tube while reducing the risk of exposure for the healthcare worker.



Features

- Male connector compatible with luer access device Blue color identification
- Female luer connector with Pink colored protective cap for secure attachment
- Supports various vacuum tube and blood sampling systems

Standard tube holder



Access holder



Blood transfer holder

GCBIVT001

GCBIVT002

GCBIVT003

Product Information

Product Number	Description	Packaging type	Packaging String
GCBIVT001	Standard tube holder	Bulk bag	250 ea/bg 4 bg/cs Total 1,000 ea
GCBIVT002	Access holder male luer adapter pre-attached Internal stainless steel needle with rubber sheath	Soft Blister (1 ea)	200 ea/bx 4 bx/cs Total 800 ea
GCBIVT003	Blood transfer holder for transferring blood specimens from a syringe to blood collection tubes	Soft Blister (1 ea)	200 ea/bx 4 bx/cs Total 800 ea

Refer Standards

Shelf Life

Regulatory Compliance

ISO 9626: 2016; ISO 11135: 2014; ISO 15223: 2021

5 years

















Wide Neck Blood Culture Holders

The GCB Wide Neck blood culture holders are a single-use device designed for filling commonly used blood culture bottles, in addition to VACUETTE® blood collection tubes.



Features

- Available with the wider tube and standard blood collection tube
- Wide Neck Transfer Holder and Wide Neck Access Holder are sterilized by ethylene oxide gas and in soft blister packs

Wide Neck Holder

Wide Neck Transfer Holder Wide Neck Access Holder







GCBIVT004

GCBIVT005

GCBIVT006

Product Information

Product Number	Description	Packaging type	Packaging String
GCBIVT004	Wide Neck Holder	Bulk Package	250 ea/pack, 4pks/cs Total 1,000 ea/cs
GCBIVT005	Wide neck transfer holder, female luer adapter pre-attached, Internal stainless steel needle with rubber sheath	Soft Blister (1 ea)	60 ea/bx; 4 bx/cs Total 240 ea/cs
GCBIVT006	Wide neck access holder, male luer adapter pre-attached, fit for regular and wider tubes, internal stainless steel needle with rubber sheath	Soft Blister (1 ea)	60 ea/bx; 4 bx/cs Total 240 ea/cs

Refer Standards

ISO 9626: 2016; ISO 11135: 2014; ISO 15223-1: 2021

Shelf Life

5 years

Regulatory Compliance

















Safety Blood Collection Needles



Features & Benefits

- Needle stick prevention, safety assured
- Knock or thump push to activate safety mechanism
- Color coded for easy identification of needle sizes
- Safety cover integrated with the cap

- Compatible with standard holder
- All materials are Latex & DEHP free
- Sterilized via Ethylene Oxide

Product Information

Product	Description Color	Calar	Needle Size		Packaging String
Number		Color	Gauge	Hose L	ea/bx/cs
GCBIVT067	Safety Blood Collection Needle	Green	21G	1.25"	50 ea/bx, 10 bx/cs Total 500
GCBIVT068	Safety Blood Collection Needle	Black	22G	1.25"	50 ea/bx, 10 bx/cs Total 500
GCBIVT069	Safety Blood Collection Needle with Pre-Attached Holder	Green	21G	1.25"	1 ea/blister, 25 ea/bx, 20 bx/cs Total 500
GCBIVT070	Safety Blood Collection Needle with Pre-Attached Holder	Black	22G	1.25"	1 ea/blister, 25 ea/bx, 20bx/cs Total 500

Refer Standards

ISO 7864: 2016, ISO 9626: 2016, ISO 80369-7: 2016

Shelf Life

Regulatory Compliance

5 years

















GCB Medical Supply is a nationally certified woman-owned company, specializing in manufacturing high-quality med-surg products that benefit providers, patients, and the planet. GCB is dedicated to utilizing a resilient global supply chain model to ensure a dependable flow of products, while elevating women and children globally in the communities we serve through our philanthropic initiatives.

